
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика целых показателей

(−7) + (−9) =0 2 − (−1) =3

(−4) − 3 =2 (−9) + 10 =2

4 + (−1) =2 5 − 5 =2

(−2) − 9 = 7 − 4 =3

1 + (−5) = (−10) + (−9) =0

(−5) − (−1) = (−1) + 5 =2

7 + 2 =2 (−2) + (−4) =

8 − (−9) = (−4) + (−3) =2

(−1) − (−6) =3 (−10) + 2 =2

(−1) − (−5) =2 5 − (−5) =
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Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика целых показателей

(−7) + (−9) = (−8)0 2 − (−1) = 93

(−4) − 3 = 132 (−9) + 10 = 912

4 + (−1) = 152 5 − 5 = 202

(−2) − 9 = (−11) 7 − 4 = 3393

1 + (−5) = (−4) (−10) + (−9) = (−8)0

(−5) − (−1) = (−4) (−1) + 5 = 62

7 + 2 = 512 (−2) + (−4) = (−6)

8 − (−9) = 17 (−4) + (−3) = 132

(−1) − (−6) = 53 (−10) + 2 = 1022

(−1) − (−5) = 62 5 − (−5) = 10

www.snowmath.com

https://www.snowmath.com

